4.1 Ratios & Proportions Review —
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. 1) Solve for x: ;\; = 2) Two squares had side lengths of 8 and 10.
What is the ratio of their perimeters?
Ix =54 D 32 40
=245
x%7.7) 7\‘1__3 ,
| % 0 (after e divide
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3) A flag pole that is 81 feet tall breaks in a ratio of 4:5. What is the length of the shorter section of the flag pole?
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Similar Polygons N\
DEFINITION DIAGRAM STATEMENTS
Two polygons are A
' similar polygons if P 54 LA = LE
and only if their ok ";c e 12 » Basf
corresponding 4 -
angles are " o ACm LS
congruent and their ’ LD = LH
corresponding side : 8_8 _¢0_0a_1
length are Wog—e  |fefmGimfiei
kproportional. ABCD ~ EFGH )
4) If ACAT~ADOG, find DO. 5} Are the triangles similar?
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PROPORTIONS CHALLENGE!
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1) Solve for x; — = —
x+7 x+1

2) A stick that is 40 ft. long is cut into two parts in the

ratio of 7:3. What is the length of the longer part? .
B(xt1)=2(x+1) & “y
Bx+8 = 2x+ 4
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3) Are the following rectangles similar?
tenth?
=L

4) What is the length of the model car to the nearest
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